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Quiz 7 } S/O

1. Examine the following Classical Persian verse. Identify whether the domain of syllabification
should be WORD (syllabification cannot cross word boundaries) or LINE (syllabification can
cross word boundaries). To do this, you have to try both syllabification rules, identify whether

each syllable is heavy (7) or light (") (Heavy: long V or has a coda; Light: others) under each rule,
and see which rule allows you to find the pattern common to both lines.
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LINE1 d&szeha:n ej bera:der neema:naed be kaes
world O brother waits for no one
“The world, O brother, waits for no one,”
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LINE 2 del 2nder &gzehan a:faeriin beend o  bzes
heart to world- creator tie and enough

“Set thy heart on the creator of the world and it is enough.”

2. Syllabify the following Classical Latin verse, assuming that the domain of syllabification is
LINE (syllabification can cross word boundaries), and identify whether each syllable is heavy
() or light (7). (Heavy: long V or has a coda; Light others)
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of-arms man-and  I- smg * from- Troy “who first from place
“I sing of arms and the man, who first from the place of Troy .. .”
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This pattern is called dactylic hexameter. It consists of six units called “feet”, and each foot can
take one of the two forms. Identify the two forms, and explain the relationship between them, as
well as why they can be treated as versions of the same unit (i.e., one foot).
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